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Math 9 Section 1.3 - p‘vﬂ'l!‘ﬂrﬁ!n Theorem
Hemewark: Section 1.3; 1-3 all, &7 even, 8-11 = Answers on Pg. 362
[Dan’t use a colcwlator for questions in #2 and #3)

From last classes, we know we can calculate square roots with our calculator, but
how do we estimate square roots if the number isn't a perfect square?

Example: Estimate 14 without a calculator! _E_f;-#ﬂ,:i-g ° CloSer +o f—[
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For each example below, without a calculator determine...

1) between which two integers is the value of the square root? &—Fwﬂm 337 ﬂﬂ:‘r 35%5'
2) which one is it closer to? I,.'dm 172 | | Lfi..f “6 ‘T
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How to solve for missing side of a right triangle |/ Ve e
1) Label each side of the triangle with the letters A b J
2) Figure out which equation to use i

3) Put in numbers and simplify the right-hand side
4) Don't forget to %;1 vdrd, 001  atthe end!

Solve for the missing side m:ag_ly. then to one decimal g_ e (if needed):
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Proof for Pythagorean Theorem: Try to find 2 ways to cover the white square

#1)
Al dab F of the green triangle




